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ACQ chb\ems

Problem 1: shift of correct physics in 1 or 2 DIFs ACQ->ACQ+1
and loosing of correct physics in ACQ+1 in same DIFs
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Synchronisation problems

dif1 vs dif0
sigpulse_pw 0.05

2000 sigpulse_frec 5.0
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Synchronisation problems

dif1 vs dif0

sigpulse_pw 0.01
. sigpulse_frec 2.0
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Synchronisation problem

» Explanation: reading of new ACQ+1 starts before
official end of ACQ
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1129 131 131 12d 12b 130 1129 12b 134 1134 131 130 132 134 12e 12f 12c
spill start found instead of spill end: fffc @ 65f0 5053 4c49 2020

Acquisition number: 26096
chip start found: fffd ffO0l 4843 5049 2020

915 @ chip end found: fffe ff@l 2020 2020
length = 1935
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* Data corruption



Synchronisation problem

* Regardless absence or presence physics in the
spill DIF should count every spill (every ACQ
number) one by one: in the raw files there are
missing spills

* For example:

some DIF1 ACQ nubers: ....

24985 24987 ,24989,24990,24991,24993,24994 2499
7.24999 25001....

* No any indication of the problem



